5.1 Rational Graph
Properties



Find the domain for each of the rational functions below.
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A discontinuity is basically A_Mk- .\hA-‘M_dM&D_’[g[aPh

How do you find discontinuities?
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Vertical Asymptotes
Vertical asymptotes ( ‘\OY\"YQW\WGW‘Q )
appear in the denominator of a simplified rational

function, These vertical lines are written in the form
X - l<-' , where k is a constant.

e To find the location of the asymptote, find the
x-values that make the denominator equal to
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{orizontal (Behavioral) Asymptotes (el\d b@hﬂ\n ;( f(x) @

‘o find a horizontal asymptote of a graph of a rational

unction, compare the degree of the numerator (m) d&%‘{%& equ[ﬂ,

vith the degree of the denommator (n).
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coefficient of the numerator (a) by the leading
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—==1 State the domain for each function. State any discontinuities and

\ identify any asymptotes.
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To find x-intercepts:
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To find y-intercepts:
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\ Find all x and y-intercepts for each function.
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Horizontal Asymptote
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